

May 28, 2024

Mayor Guy Titus Board of Public Works and Safety 10 South State Street Greenfield, IN 46140

Re: Greenfield Wastewater Utility – Lockers and Benches

Mayor and Board Members,

The lockers and benches for the new administration building were only specified to be installed by the contractor, but not purchased. After determining that these would need to be purchased by the City, I requested the attached quote for the lockers and benches from Commercial Office Environments, the vendor that was selected during the furniture RFP process. The total cost, including freight and surcharges, of the lockers and benches is \$25,578.26. The estimated lead time for delivery of these items is 6-8 weeks and the current timeline for the substantial completion of the administration building is late June.

At this time, I am requesting that the Board approve the quote from Commercial Office Environments for the total amount of \$25,578.26 for the purchase of the lockers and benches to be installed by FA Wilhelm as part of the WWTP Improvements Project. A copy of the quote has been included for your review. Please let me know if there are any questions or if any other information is needed at this time.

Best Regards,

Nicholas Dezelan, CHMM, ASP Wastewater Utility Manager

Cc: Gregg Morelock – City Attorney

Jane Webb – Utility Coordinator





Lyon Lockers - Greenfield Wastewater 05.14.24

			F	rice
Item	Qty.	Product	Unit	Extended
1	46	NF5829 Number Plates	\$0.93	\$42.78
2	1	XX5911SHD Front Expansion Filler-Locker with 6" Legs-12 Inch Wx 72 Inch H	\$150.65	\$150.65
3	6	XX50523WC All Welded Single Tier Locker - 15"w x 15"d x 72"h Construction (3) Three Wide (3)	\$1,411.07 Widths -	\$8,466.42
4	1	XX5052WC All Welded Single Tier Locker - 15"w x 15"d x 72"h	\$536.85	\$536.85
5	2	XX52523WCI All Welded Double Tier Locker - 15"w x 15"d x 36"h Constructio - (3) Three Wide (3)	\$1,656.07 on Widths Door & Sides Ventilation-Diamond Perf-(DPD)	\$3,312.14
6	2	XX52522WCI All Welded Double Tier Locker - 15"w x 15"d x 36" Construction (2) Two Wide (2)	\$1,083.19 N Widths - Door & Sides Ventilation-Diamond Perf-(DPD)	\$2,166.38

	Pri			rice
ltem	Qty.	Product	Unit	Extended
7	1	XX5252WCI All Welded Double Tier Locker - 15"w x 15"d x 36"h	\$618.93 Door & Sides Ventilation-Diamond Perf-(DPD)	\$618.93
8	2	XXLSHE06015-25 Continuous Sloping Hood w/STD Support 16GA	\$361.45	\$722.90
9	2	XXLSHECE15-3 Sloping Hood Ends & Caps 16GA	\$204.63	\$409.26
10	1	XXLEFSSL1578-2 End Finish Panels - Single Row - 16GA	\$312.16	\$312.16
11	1	XXLEFSSR1578-2 End Finish Panels - Single Row - 16GA	\$312.16	\$312.16
12	3	XXADAKIT15X15 15X15 ADA SHELF/STICKER KIT	\$40.36	\$121.08
13	41	NFCOATROD15 Coat Rod	\$3.77	\$154.57
14	1	XX50323WC All Welded Single Tier Locker - 12"w x 15"d x 72"h Construction (3) Three Wide (3)	\$1,337.72 Widths -	\$1,337.72

			P	Price	
tem	Qty.	Product	Unit	Extended	
15	1	XX50322WC All Welded Single Tier Locker - 12"w x 15"d x 72"h Construction Widths - (2) Two Wide (2)	\$927.16	\$927.16	
16	5	NFCOATROD12 Coat Rod	\$3.77	\$18.85	
17	1	XX5800-5 Closed Front Base - 6" High x 12" Wide	\$80.57	\$80.57	
18	1	XX5801-30 Closed Front Base - 6" High x 15" Wide	\$486.44	\$486.44	
19	5	NF5829 Number Plates	\$0.93	\$4.65	
20	5	NF6711 Single Prong Hook for Locker	\$1.68	\$8.40	
21	5	NF6712 Double Prong Hook for Locker	\$3.77	\$18.85	
22	4	5794 Hardwood Locker Room Bench with Steel Pedestals 48"w	\$203.47	\$813.88	

			P	Price	
ltem	Qty.	Product	Unit	Extended	
23	1	STD COLOR TOUCH UP PAINT CANS	\$13.31	\$13.31	
24	1	Lyon Material Surcharge	\$3,155.48	\$3,155.48	
25	1	Lyon Freight	\$1,386.67	\$1,386.67	
Pricin	g valid 14 d	days.	TOTAL	\$25,578.2	